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•.M&1 

Section-1 

(mÙkj dh 'kCn lhek&30] vad&02) 

Hkkx&1 

1- 	 rki lquE; D;k gS\ ikWfyFkhu cgqyd dh lajpuk ,oa mi;ksx fyf•,A � [2]

	 What is thermoplastic? Write the structure and uses of polythene polymers.

2- 	 feJ/krq ,oa veyxe dks ifjHkkf"kr dhft, rFkk nksuksa ds nks mnkgj.k nhft,A � [2]

	 Define alloy and amalgam and give two examples of both.

3- 	 <yok¡ yksgk] fiVok¡ yksgk rFkk bLikr esa varj le>kb,A � [2]

	 Explain the differences among cost iron, wrought iron and steel.

4- 	 çdk'k ds ijkorZu ds fu;e fyf•,A � [2]

	 Write the laws of reflection of light.

5- 	 çdk'k ds ewy xq.k D;k gSa\ (dksbZ pkj) � [2]

	 What are basic properties of light? (Any Four) 

6-	 jksi.k D;k gS\ ikS/ksa esa ;g fdl çdkj fd;k tkrk gS\ � [2]

	 What is grafting? How it is done in plants?

7- 	 raf=kdk dksf'kdk dh lajpuk dk laf{kIr o.kZu dhft,A � [2]

	 Describe briefly the structure of a neuron or nerve cell. 

8- 	 cgqHkwz.krk D;k gS\ bls mnkgj.k lfgr le>kb,A � [2]

	 What is polyembryony? Explain it with examples.

Hkkx&2

1- 	 fuEu vk¡dM+ksa dh ekfè;dk Kkr dhft,%� [2]

	 34] 49] 50] 34] 21] 27] 50] 34] 12] 43 

	 Find median of the following data: 

	 34] 49] 50] 34] 21] 27] 50] 34] 12] 43 �

2- 	 fuEu dk y?kqÙke lekiorZd Kkr dhft,% � [2]
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	 Find the L.C.M.of 2
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3- 	 ;fn 1-5 a ¾ 0-03b rc 
b a

b a

�
�

 dk eku Kkr dhft,A � [2]

	 If 1.5 a = 0.03b, then find the value of 
b a

b a

�
�

 

4-	 rk'k ds 52 iÙkksa esa ls 2 iÙks ;n`PN;k fudkys tkrs gSaA nksuksa ds yky jax ds ;k nksuksa ds csxe gksus dh çkf;drk D;k 
gS\ � [2]

	 Two cards are drawn at random from a well shuffled pack of 52 cards. Find the probability that both are red 
or queens. 

5- 	 ;fn 
2

4

a b

a b

+
+

¾ 3 gks rks 
a b

a b

+
+ 2  dk eku Kkr dhft;sA � [2]
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	 If 2
4

a b

a b

+
+

 = 3, then find the value of 
a b

a b

+
+ 2

 

6-	 Hkkos'k us ,d ?kM+h ` 1]150 esa •jhnh vkSj 5» equkiQs ds lkFk mls csp nhA mlus ?kM+h fdl ewY; ij csph\ � [2]

		 Bhavesh bought a watch for ₹ 1,150 and sold it at again of 5%. At what price did he sell the watch? 

Hkkx&3

1- 	 dEI;wVj dh dksbZ pkj fo'ks"krk,¡ fyf•;s A � [2]

	 Write any four features of computer.

2- 	 lkWÝVos;j fdls dgrs gSa \ blds çdkjksa ds uke fyf•;sA � [2]

	 What is Software? Write the names of Software.

3- 	 lkSj ÅtkZ ds dksbZ pkj mi;ksx fyf•,A � [2]

	 Write any four uses of Solar energy.

4- 	 iQksVks oksfYVd lsy dk fl¼kUr fyf•;sA � [2]

	 Write the principle of Photo Voltaic Cell.

5-	 tSo&fofo/rk ds •rjs fyf•;sA� [2] 

	 Write threats of Biodiversity.

6- 	 vuohuhÑr ÅtkZ D;k gS\ blds dksbZ nks lzksrksa ds uke fyf•;sA � [2]

	 What is non-renewable energy? Write its any two sources.

7- 	 fo"kSys inkFkks± ds uke fyf•;s ftuls ty çnw"k.k gksrk gS A (dksbZ pkj) � [2]

	 Write the names of Toxic elements which are responsible for water pollution. (Any Four) 

8- 	 bZ&VsDuksykWth ls Ñf"k {ks=k esa ykHkksa dks fyf•;sA � [2]

	 Write the advantages of e&technology in agriculture field.

•.M&2 

Section-2  

(mÙkj dh 'kCn lhek%&60] vad&04) 

Hkkx&1 

9- 	 mnkgj.k lfgr HktZu rFkk fuLrkiu dks le>kb,A � [4]

	 Illustrate with eñamples roasting and calcination.

10- 	çfrjks/ksa ds la;kstu ds fu;e fyf•, rFkk lerqY; çfrjks/ dk lw=k Kkr dhft,A � [4]

	 Write the laws of combination of resistances and obtain formulae for equivalent resistance.

11- 	fo|qr {ks=k dh rhozrk ifjHkkf"kr dhft,A bldh bdkbZ D;k gS\ nks IysVksa ds chp dh nwjh 4 ls-eh- rFkk muds chp 
foHkokUrj 12 oksYV gS rks IysVksa ds chp fo|qr {ks=k dh rhozrk dh x.kuk dhft,A � [4]

	 Define intensity of electric field. What is its unit? If the distance between two plates is 4 c.m. and potential 
difference between them is 12 volt, calculate the intensity of electric field between plates.

12- 	dkcZu la'ys"k.k ds C3 ,oa C4 pØksa dk varj crkb,A � [4]

	 Differentiate between C3 and C4 cycles of carbon-fixation.

13- 	esUMy ds oa'kkuqxr fu;eksa dk o.kZu dhft,A � [4]

	 Describe the Mendel's laws of inheritance.
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Hkkx&2

7- 	 M vkSj N dkWyst esa i<+us okys Nk=kksa dh la[;k Øe'k% 4 % 3 ds vuqikr esa gS A ;fn 100 ls vf/d Nk=k dkWyst 

M esa 'kkfey gksrs gSa vkSj dkWyst N ds Nk=kksa dh la[;k esa dksbZ cnyko ugha gksrk gS] rks lacaf/r vuqikr 7%5 gks 

tkrk gSA dkWyst N esa Nk=kksa dh la[;k fdruh gS\ � [4]

	 Number of students studying in college M and N are in the ratio 4 : 3 respectively. If 100 more students join 
the college Mand there is no change in the number of students of college N, then the respective ratio become 
7 : 5. What is the number of students in college N? 

8-	 fdlh ijh{kk esa ,d fo|kFkhZ dks dqy 540 vad çkIr gq;s ftls fuEu çdkj ls o`Ùkkys• esa n'kkZ;k x;k gSA rks crkb;s 

fdl fo"k; esa ml fo|kFkhZ us 108 vad çkIr fd;sA � [4]

	 The following pie chart shows the marks obtained by a student in an eñamination who scored 540 marks in 

all- Find the subject in which the student scored 108 marks.

xf.kr
Mathematics

vaxzsth
English

fgUnh
Hindi lkekftd 

foKku
Social Sci.

foKku
Science

90° 63°
75°

72°
60°

9- 	 ÅèoZ f=k;xH;ke ls gy djsaA � [4]

	 321 × 452 

	 çkIr mÙkj dh tk¡p chtkad }kjk djsaA 

	 Solve : 321 × 452 

	 Using Urdhva Triyagbhyam and check the answer by Bijank. 

Hkkx&3

9- 	 bZ&pkSiky dk D;k vFkZ gS\ le>kb;sA � [4]

	 What do you mean by e-chaupal? Explain. 

10- 	dEI;wVj ds pkj buiqV rFkk pkj vkmViqV fMokblksa ds uke fyf•;sA� [4] 

	 Write the names of four input and four output devices of computer.

11- 	thok'e bZa/u fdls dgrs gSa\ blds nks mnkgj.k nhft;sA � [4]

		 What do you mean by fossil fuel? Write its two examples. 

12- 	LPG D;k gS\ bls dSls çkIr fd;k tkrk gS\ � [4]

	 What is LPG? How it is obtained?

13- 	Hkkjr esa tSo&fofo/rk ds laosnu'khy {ks=kksa dk o.kZu dhft;sA � [4]

	 Explain the Hot-spots of Biodiversity in India. 
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•.M&3 

Section-3 

(mÙkj dh 'kCn lhek&100 vad&08) 

Hkkx&1

14- 	ykSg 'kks/u esa okrHkêðh esa gksus okyh fØ;kvksa dk o.kZu dhft,A � [8]

	 Describe the reaction occurring in blast furnace during extraction of Iron.

15- 	v¼Z pkyd D;k gS\ ih&,u Mk;ksM dh lajpuk ,oa dk;Zfof/ le>kb,A � [8]

	 What is semi&conductor? Explain the construction and working of a p-n diode. 

16- 	ekuo ds 'olukaxksa dk lfp=k o.kZu dhft,A � [8]

	 Describe the human respiratory organs with the help of diagram. 

Hkkx&2

10- 	,d vuØe esa 7 in 'kkfey gSa tks vojksgh Øe esa O;ofLFkr gSa A vuqØe dk ekè; 80 gS A ;fn 20 dks çR;sd in 
esa tksM+k tkrk gS vkSj çR;sd in dks 2 ls foHkkftr fd;k tkrk gS rkfd u;k ekè; M feys] rks ewy ekè; vkSj u, 
ekè; M ds chp dk varj Kkr dhft,A � [8]

	 A sequence consist of 7 terms arranged in descending order. The mean value of the sequence is 80. If 20 is 
added to each term and each term is divided by 2 to get new mean as M, then find the difference between 
M and original mean.

11- 	fdlh unh ds ,d gh fdukjs ij nks fcUnqvksa P vkSj R dk eè; fcUnq Q gSA dksbZ uko P ls R rd 16 ?kaVs 40 feuV 
esa vk ldrh gSA ;gh uko 12 ?k.Vs esa P ls Q rd tkdj okil vk ldrh gSA bl uko dks R ls P rd tkus esa 
fdruk le; yxsxk\� [8]

	 On a river, Q is midpoint between two points P and R on the same bank of the river. A boat can go from P 
to R in 16 hours 40 minutes. It can go and return back from P to Q in 12 hours. How long would it take to 
go from R to P?

Hkkx&3

14- 	Bksl vif'k"Vksa ds çHkko fyf•;sA blds çca/u ds leqfpr mik; le>kb;sA � [8]

	 Menti	on the effect of Solid Waste. Explain the control measure of its management.

15- 	ukfHkdh; çnw"k.k D;k gS\ blds dkj.k] çHkko rFkk fu;a=k.k ds mik;ksa dk o.kZu dhft;sA � [8]

	 What is Nuclear pollution? Describe its reasons, effects and control measures. 

16- 	ekuo rFkk oU;thoksa esa çfrLi/kZ dk o.kZu dhft;sA � [8]

	 Describe the Man and Wild life conflicts.

•.M&4

Section-4

(mÙkj dh 'kCn lhek&125] vad&10) (bl •.M esa Hkkx&02 ls dqy 02 ç'u vFkok@OR ds :i esa fn;s 
tk,axsA 

vH;FkhZ dks buesa ls dksbZ 1 mÙkj nsuk gksxkA) 

Hkkx&2 

12- 	fuEufyf•r rkfydk esa fdlh jkT; ds nks ftyksa A rFkk B esa cqfu;knh <kaps ds {ks=k esa fuosf'kr jkf'k (djksM+ ` esa) 
nf'kZr gSA rkfydk dk vè;;u dj iwNs x;s ç'uksa ds mÙkj nhft,A � [10]

	 Study the following table which shows the amount of money invested (Rupees in Crore) in the core 
infrastructure areas of two districts A and B of a state and answer the following questions:
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ftyk/District A ftyk/District B

dksj {ks=k/Core area 1995 1996 1995 1996

fo|qr/Electricity 815.2 1054.2 2065.8 2365.1

jlk;u/Chemical 389.5 476.7 745.3 986.4

rki/Thermal 632.4 565.9 1232.7 1026.3

lkSj/Soalr 468.1 589.6 1363.5 1792.1

U;wfDy;j/Nuclear 617.9 803.1 1674.3 2182.1

;ksx/Total 2923.1 3489.5 7081.6 8352.0

(i) 	1995 dh ryuk esa 1996 esa nks ftyksa A vkSj B esa dqy fuos'k yxHkx fdrus çfr'kr vf/d gqvk\ 

	 By approñimately what percent was the total investment in the two districts A and B more in 1996 as compared 
to 1995?

(ii)	 1995 dh rqyuk esa 1996 esa fo|qr rFkk rki {ks=k esa ftyk esa fuos'kksa ds vUrj dk vuqikr fdruk gS\ 

	 What is ratio of differences of investment in District-A on electrical & thermal areas in 1996 compared to 
1995?

(iii) 	1995 vkSj 1996 esa ftyk B esa dqy fuos'k mUgha o"kks± esa ftyk A esa dqy fuos'k dk yxHkx fdrus xq.kk Fkk\

	 Approñimately how many times was the total investment in 1995 and 1996 in District-B was that of total 
investment of District-A in the same year? 

(iv) 	;fn ftyk B esa dqy fuos'k 1997 esa mruh gh o`f¼ nj dks n'kkZrk gS ftruh 1995 ls 1996 rd n'kkZ;h Fkh] rks ftyk 
B esa 1997 esa dqy fuos'k yxHkx fdruk gksxk\ 

	 If the total investment in district-B shows the same rate of increase in 1997, as it had shown from 1995 to 
1996. What approñimately would be the total investment in B in 1997?

•.M&5 

Section-5 

(mÙkj dh 'kCn lhek&175] vad&15) (bl •.M esa Hkkx&01 ,oa 03 ls Hkkxokj  
dqy 04 ç'u vFkok@OR ds :i esa fn;s tk,axsA   

vH;FkhZ dks Hkkx 1 o Hkkx 3 esa ls 1&1 dk mÙkj nsuk vfuok;Z gSA) 

Hkkx&1

17-	 çdk'k&oS|qr çHkko D;k gS\ çdk'k&oS|qr çHkko ds fu;e fyf•, rFkk vkbUlVhu lehdj.k] nsgyh vko`fÙk ,oa dk;ZiQyu 
dks le>kb,A çdk'k oS|qr çHkko ds mi;ksx fyf•,A� [15] 

	 What is photo&electric effect? Write the laws of photo&electric effect and eñplain Einstein equation, threshold 
frequency and work function. Write the uses of photo&electric effect.

	 vFkok@OR 

	 ukekafdr fp=k dh lgk;rk ls ekuo ân; dh lajpuk ,oa dk;Zfof/ dk o.kZu dhft,A 

	 With the help of labelled diagram, desctibe the structure and working of human heart.

Hkkx&3 

17- 	lwpuk çkS|ksfxdh ls vki D;k le>rs gSa \ xzkeh.k Hkkjr esa blds ;ksxnku dk o.kZu dhft;s� [15] 

	 What do you mean by Information Technology? Describe the role of Information Technology in rural India. 

vFkok@OR 

	 Hkkjr fo'kky tSo&fofo/rk jk"Vª gS] le>kb;sA 

	 India is a Mega-diversity Nation, explain.


